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=TT B/C 1kWh »7=1) -2.41 -2.22 +0.19
tEEEHTY T
=E 1kWh 7= 1) -2.33 -2.14 +0.19
EEEIT B/C 1kWh 7= 1) -1.43 -1.39 +0.04
HitEHT U7
=Sl 1kWh »7=1) -1.39 -1.34 +0.05
=TT B/C 1kWh 7= 1) -3.10 -3.10 0.00
RREHTVUT
=E 1kWh &7z 1) -2.99 -2.99 0.00
REEELT B/C 1kWh &7 1) -4.03 -4.08 -0.05
hEHEHTY T
= 1kWh 7= 1) -3.85 -3.90 -0.05
2T B/C 1kWh &% 7= 1) -0.25 -0.14 +0.11
EkEEHTVUT
=E 1kWh &7z 1) -0.24 -0.13 +0.11
%D 15kWh £ T 1.17 0.88 -0.29
HETITA
FEAEBZ B 1kWh 7=V 0.08 0.06 -0.02
BEEEHTYT
EEEBITB 1kWh & 7= 1) 0.08 0.06 -0.02
=E 1kWh &7z 1) 0.08 0.06 -0.02
%D 15kWh £ T -14.09 -12.28 +1.81
RETITA
+REBZ B 1IkWh 7=V -0.94 -0.82 +0.12
fEEHTYT
EEEBITB 1kWh &% 7= 1) -0.94 -0.82 +0.12
=E 1kWh &7z 1) -0.90 -0.78 +0.12
9D 11kWh £ T -10.15 -8.88 +1.27
RETITA
+REBZ B 1IkWh $H7- Y -0.92 -0.81 +0.11
mEZEATY T
EEEITB 1kWh 7= 1) -0.92 -0.81 +0.11
=E 1kWh & 7= 1) -0.89 -0.78 +0.11
EEELT B/C 1kWh & 7= 1) -1.48 -1.44 +0.04
hMEHTUT
BE 1kWh 7= 1) -1.39 -1.36 +0.03




